[#E1]
BIERL B BAAL R (FMERRE)

ARNTHEEE
S AT L% T E R R i B 4 SUNIREERE T BRFE KR
X P e ad - — =3 [EREZD
5| BHORH o 1 70 0 . 0 ] I
ENERIERIETESNIENEHET
NSRS X U7 AR 2 1 1 O
S 1 1
|imper 2 1 1 O
i 1 1
g( B AR 2| 1 1 @)
5 2| 1| 1 @)
| PHEGE 2 1 1 @)
H 2| 1| 1 @)
AR 2 il 1
BRARIETE AT 2| 1 1
— % B & Fr B af 18] 4] 3] 3] 3] 2] 2 of 1
TRET LY i 7 2 2 O
2l 1| 1 @)
2| 1| 1 @)
2 il 1 @)
W 15 T 2| 2
H 2 1 1 @)
3k 2 2
T | S [ SRk d 3 i 2 @)
S HUAR S AT B L (LAY AT W T4 2 1 1 @)
=3 Pl VSN 2 il 1 @)
BbE 3L — W BT - VX — iR 2 if 1O
EPET AEPETS 2 1 11 O
REFREN PTG 2l 2
CEMETY TRMETY 2l 1 1 O
%k 6 R EE 29 7] 3] 7] 8] o] of 2] 2
ERE S TPER [BEXEF LPER 4 4 O
B LS 4 4
L SR a0i DA S 2l 2
SRS |7 ) n s Bl 2 1 1 @)
T AVH VIRl TR R 2 2 @]
THOE(T L IEm IR | v o — 2 LR IR 2l 2
G Ty 2 1 1 O
77'{3 B > Pl =r]
3 VAT MBS S 2 2
it
g [R5 =T BREICH (HLiA T 7 b7 R 4 4 O
53 7 — i T VTR B EE 2 1 1 @)
GUIZ' Ry I3 7 HH 2 2
bR TAEEH ST AEER 4 4
gtk TR 2 2 @)
LOSKY T =N 4 2| 1| 1
o e e LR
TR 0 Olzhz
% R Rk E Tk af 38 8] 14 5] 5] 2 1] 3[ o
RS FH AR AT 2 2 O
BT 2 2 O
AL 57 2= AT |2 57 = — 2B 2 2 O
A I 7 a7 B A 2 2 @]
F VBV Al BT 2 1 1 @)
B |vqrnava—sy | /nas B a—a T 2 1 1 O
be
| T — b =T B (AR 7 b =7 I A 2 2 O
# 77— I =T il 2 1 1 O
MAGA R —F 7 AT A AT A R —F 4 T VAT A 2 2 O
SR BEB N | Ry N — 2Bl 2 1 1 O
DX & B 2 2 o
IR 22 ol of 3] 1] 6] 9] 3] o
A rnn ey TR | Ao e — S T 4 2 2 O
257w AU | 57 = AR 4 2| 2 O
A R T e/ R ER 4 4 @]
F 4R VA I 2 1] 1 O
Hi A I s B 4 52 2 2
8 TR | A R R 4 4 O
Y,
é HELA 2B 23052 | LA b o B 1928 5 5 O
e THNRY N —2EH 2 1 1
T == 7 B [HLA R 7 N = 7 5 4 2l 21O
Ty =L =T EH 2 1 1 O
RAHIERE) (¥ 4 4 BRI
(GE#4R)
12 12| O
A 491 o] o[ 5] 1] 7] uif 1] 14
M #H H O F  H 18] 4] 3] 3] 3] 2] 2] o] 1
3 5 i ¥ [ 29 7] 3] 7] 8] o[ o] 2[ 2
% JE i ES 53 38 8| 14| 5] 5] 2| 1] 3] 0
g 4 Ea B 22] ol of 3] 1] 6] 9] 3] o
5 E4 ES f33 49 o] of 5] if 7] uif 11] 14
i 156] 19] 20 23[ 18[ 17[ 23] 19] 17

&
() F B LITEDHNTAZER H ON156 AL LL HBIEL TR0 ERA,




